
0  

 

Algebra & Analytic solid Geometry        الجبر والهندسة الفراغية            
 أجب عن الأسئلة التالية:

 

أي القيم التالية يمكن أن تساوي   .1 
k

3g .......... 

Which of the following could be equal 

 to   np3 = ……. 

 

1. 

 

  40 40 ⓐ 
  140 140 ⓑ 
  210 210 ⓒ 
  280 280 ⓓ 
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 h ( =-1  ،4  ،3، )إذا كان    .2 

  f ( =2  ،2  ،1 فإن مركبة )

 f   فى اتجاه المتجهhالمتجه
 يساوى ............

If  𝐴  = (– 1 , 4 , 3 ) , 𝐵 ⃑⃑⃑⃑  = ( 2 , 2 , 1 ) , 

then the component of the vector  𝐴 ⃑⃑⃑⃑   in 

the direction  of the vector  𝐵 ⃑⃑⃑⃑   equals 

…………… 

 

 

2. 

 

 
 

9

26
 9

√26
  ⓐ 

 
 

3

26
 3

√26
  ⓑ 

 
 3 3 ⓒ 

 
 1  1 ⓓ 
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 إذا كان المستقيمان:  .3 
1 u 2 w s
; 4 3
1 u 2 w 1 s
4 3 2

 
 

  
 

 = ......;متعامدين فإن:  

If the two straight lines: 

   
𝑥−1

 2 
 = 

𝑦+2

3 
 = 

𝑧−1

4 
  ,  

    
𝑥

3 
 = 

𝑦−2

4 
 = 

𝑧−1

𝑘 
   

  are perpendicular , then  k = ………  

 

3. 

 

 
 

19
4
 − 19

4
  ⓐ 

 
 

17
4
 − 17

4
  ⓑ 

 
 - 4.5 – 4.5 ⓒ 

 
 4.5   4.5 ⓓ 

 

………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
……………………………………………………………………………………………… 

 
 

 

 



3  

 

أوجدد معاللدة المسدتقيم المداق ة قلأدة ا  د    .4 
 ويقلأع المستقيم:

 (=3  ،1  ،4+) (2، 1 ،3  )
 .على التعامد

 

Find the equation of the straight 

line passes through the origin 

point and  cut Perpendicularly  the 

straight line : 

  𝑟 = ( 3 , 1 , 4 ) + k ( 2 , 1 , 3 ) 
 

4. 

 …………………………………………………………………………………………………
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………………………………………………………………………………………………… 
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طول قلأر الكرة التى معاللتها:    .5 
2 2 20 4 u4 w8 s6 u w s      

 يساوى ....... وحدة طول 

The length of the diameterof 

the sphere whose equation :  
𝑥2 + 𝑦2 + 𝑍2 −  6𝑥 + 8 𝑦 − 4𝑧 + 4 = 0      
equals ……… length unit  

 

 

5. 

 

 
 5 5 ⓐ 

 
 10 10 ⓑ 

 
 15 15 ⓒ 

 
 20 20 ⓓ 
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إذا كان   .6 
j i u      فأوجد المقياس

   والسعة للعدل
u 1
u 1



. 
 

  If : Z = 𝑒𝜃𝑖 , then  find the 

modulus and the amplitude 

of the complex number  

       
1+𝑧

1−𝑧 
 

 

 
6. 
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 7.  
عدل طرق اختياق أقبعة أحرف على ا ق  

 مختلفة معاً من ع ا ر المجموعة

 {  ، ، جب  ،  ، ...... هي } 

The number of ways of the 

selection of four different 

letters at least together 

From the elements of the set 

{ a , b , c , d , e } is ….. 
 

 

7. 

 

 
 

5 5

5 4r r 5c5+4 c5 
ⓐ 

 
 

5 5

5 4r r 5c5  × 4 c5 
ⓑ 

 
 

5 5

5 4g g 5p5+4 p5 
ⓒ 

 
 

5 5

5 4g g 5p5  × 4 p5 
ⓓ 
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7  

 

 

 8.  
بحث امكانية ح  المعاللات الآتية ا

 وأوجد الح  إن وجد : 

Discuss the possibility of 

solving of the following linear 

equations and find the solution  

if exist: 

                                 

(
1 1 1
2 3 2
1 −1 0

)   (
𝑥
𝑦
𝑧
) = (

1
0
3
)    

 

 

 
8. 

 

………………………………………………………………………………………………
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 1   1   1  
2  3   2  
0  –1  1 
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حجم متوازي السلأوح الذي فيه ثلاثة أحرف   .9 

      h=(3  ،-4  ،0      ،)تجاوقة يمثلهمام
f(=0  ،– 4  ،3 ،)[  ( =0  ،0  ،5  ) 

 وحدة مكعبة  يساوي .......

The volume of the cuboid  in 

which 3 adjacent edges on it 

are represented  By 

 𝐴 = ( 3 , – 4 , 0 ) , 𝐵⃑⃑ = ( 0 , – 4 , 3 )  

, 𝐶 ⃑⃑⃑⃑  = ( 0 , 0 , 5 )  equals ……… 

cubic unit 

 

9. 

 

 
 12 12  ⓐ 

 
 50 50 ⓑ 

 
 60 60 ⓒ 

 
 125 125 ⓓ 

 

………………………………………………………………………………………………
………………………………………………………………………………………………
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………………………………………………………………………………………………
………………………………………………………………………………………………
……………………………………………………………………………………………… 
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 إذا قلأع محوق السي ات الكرة :   .10 

  14=  2( 1 –+ ) ع  2( 3+ ) ص +  2( 2 –) س 

 ، ب. فإن طول  في ال قلأتين 

fhوحدة طول .......... = 

If  x –axis cuts the sphere  
( x – 2 )2 + ( y + 3 )2 + ( z – 1 )2 = 14  

in the two points A and B then 

the length of 𝐴𝐵 = ……… 

length unit  

 

 

10. 

 

 
 2 2 ⓐ 

 
 14 √14  ⓑ 

 
 4 4 ⓒ 

 
 28 √28  ⓓ 

 

………………………………………………………………………………………………
………………………………………………………………………………………………
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……………………………………………………………………………………………… 
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إذا كاندد    13ص(2 –س 3فددي مفكددو  )  .11 
ال سددددددبة ةددددددين الحدددددددين ا و ددددددلأين علددددددى 

الترتيدددس تسددداوي 
2
3


ص : س =  فدددإن  
........ 

In the expansion of ( 3x – 2 y )13  

if the ratio between the two 

consecutive middle terms equals   
−2

3
 ,then y : x = ……. 

 

 
11. 

 

 
 9  :4            9 : 4 ⓐ 

 
 4  :9                     4 : 9 ⓑ 

 
 3  :2               3 : 2 ⓒ 

 
 2  :3                2 : 3 ⓓ 

 

………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
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………………………………………………………………………………………………
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………………………………………………………………………………………………
………………………………………………………………………………………………
……………………………………………………………………………………………… 
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 12.  
 4عددددل طدددرق توزيدددع ثمانيدددة جدددوا   بالتسددداوي علدددى 

 طلاب تساوي ...........

The number of  ways of 

distribution of eight prices 

equally among 4 students 

 equals ………… 

 
12. 

 

 
 35 35 ⓐ 

 
 56 56 ⓑ 

 
 2520 2520 ⓒ 

 
 40320 40320 ⓓ 

 

………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
……………………………………………………………………………………………… 
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 13.  
 بدون فك المحدد أثبت أن : 

 

without expanding the 

determinate , prove that  

|
𝑎 𝑏 𝑐
𝑏 𝑎 + 𝑏 𝑎 + 𝑏 + 𝑐
𝑏 𝑎 𝑐

|   +    

|
𝑎 𝑏 𝑧𝑒𝑟𝑜
𝑏 𝑎 + 𝑏 𝑏
𝑐 𝑎 + 𝑏 + 𝑐 𝑎 + 𝑏

|  = zero 

 
 
 
 
 
 

  13. 

 …………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
………………………………………………………………………………………………… 
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إذا قلأع مستوي محاوق الإحداثيات في    .14 
      ، وكان  ال قلأة  ،  ب،  ال قط 

(l ،k  ،, هى نقلأة تقاطع )
. اثب  أن  بمتو لأات المثلث 

 معاللة المستوى هى: 

         
u w s

3
, k l

   

If a plane cuts the axes at the points 

A,B and C and the point ( m , n , f )  

is the centroid point of        ABC 

prove that the equation of the plane 

is : 

      
𝑥

𝑚
 + 

𝑦

𝑛
 + 

𝑧

f
 = 3 

14. 

 …………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
……………………………………………………………………………………………… 
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هدددددى الجدددددذوق التكعيبيدددددة  @ω  ، ω ا كددددانإذ  .15 
الغير حقيقية للواحد الصحيح فإن مجموعة 

38حددد  المعاللدددة  s  هدددي  : فدددى
...... 

If 1,  𝜔 , 𝜔
2  are the cubic roots of 

one ,then the solution set of  the 

equation   X 3 = 8      in  C is ….… 

 

15. 

 

   2 
{ 2 } ⓐ 

 
  2 2ω  ω   

}
 2

 𝜔,   4 𝜔{ 2 , 2 ⓑ 

 
  2 2ω  ω  

 

}
 2

 𝜔,   2 𝜔{ 2 , 2 ⓒ 

 
  2 8ω ω

 

}
 2

 𝜔,  8 + 𝜔{ 8 , 8+ ⓓ 

 

………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
……………………………………………………………………………………………… 
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 16.  
في مفكوك  

9

2
1

s
s
  

 جب عن أحد المطلوبين التاليين فقط:أ

تبة وقيمة الحد الخالي ر أوجد  (1)
 .من س

قيمة س التي تجع  أوجد (  2)
مجموع الحدين ا و لأين في 

 .المفكو  يساوي  فر

If the expansion of  ( x + 
1

𝑥2 )9  

Answer one of the following 

questions only: 

 ( 1 ) find the order and the 

value of the term free of  x  

( 2 ) find the value of  x in 

which the sum of the two 

middle  terms in this expansion 

equals zero  
 

16. 

 …………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
…………………………………………………………………………………………………
………………………………………………………………………………………………… 
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 17.  

 

    |
|

𝑎𝑏 𝑎
1

𝑐

𝑎𝑐 𝑐
1

𝑏

𝑏𝑐 𝑏
1

𝑎

|
|     =   ……. 

 

17. 

 

 
 zero  صفر  

ⓐ 

 
 bc         جد ب  

ⓑ 

 
 1 1 

ⓒ 

 
 2 2 

ⓓ 

 

………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
……………………………………………………………………………………………… 
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 إذا تقاطع المستويان :  .18 

 ،   0=  5 –ع  6ص +  6 –س  3  

   0=  3 –س + ع   

  التاليين فقط: جب عن أحد المطلوبينأ

 معاللة خط تقاطع المستويين.أوجد  (1)

 أوجد قياس ال اوية ةين المستويين. (2)
 

If the two planes :   

3x – 6 y + 6 z – 5 = 0 and 

  x + z – 3 = 0   are intersected 

Answer only one of the 

following questions: 

( 1 ) find the equation of the line 

intersection of the two planes  

( 2 ) find the angle between the 

two planes   

 

 

18. 

 

………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
……………………………………………………………………………………………… 
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 19.  
 لنيكون ss  ،uuلمستقيمانا

 مستوي الإحداثيات الذي معاللته ....

The two straight lines 𝑥𝑥\⃡⃑ ⃑⃑ ⃑⃑   , 𝑦𝑦\⃡⃑ ⃑⃑ ⃑⃑   

form the Cartesian plane whose 

equation is................. 

 

19. 

 

 
 x=0 ⓐ س =  فر 

 
 y=0 ⓑ ص =  فر      

 
 z=0 ⓒ ع =  فر 

 
 y=2 ⓓ  2ص =  

 

………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
……………………………………………………………………………………………… 

 
 

 
 

 ،،،،،،،،مع أطيب التمنيات بالتوفيق
 

 

 

 

 

 

 


